EARAROBEEIERT — 2 N— IBISH —F

20175148 (k) 19EA%3H

KM C2—15% C2 #7%4mt ‘ =z # ‘ (arsh] — | & (&) 13000 &
[AE4£] 1% :130,000 ™ ~ 23#&:30,000”  33%&:12,000 M  43%&:7,000H ~ 53 :4,000H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N DTS :25. —-3-2- . — HHFRe (E8)
1177 JNRMILH 240 4 5 54’.\6 1(2_5)4 3-3-2-3 39.9 2 (4_356) sl a8
RFFHRTF D BUSRLHIVE X R ik
—q D oo Al : —4-4- - AlEYX (158)
Bl 3| TAT7IIZCR 6 o (17'25% Atz | 296 1 ?f) oz
L:ALNTyTIVE B:TAT7TVF -7 ZHRTIT7— L
N . INAET . —7-7— - REEHEE (£5)
o x1vavsux 58 G| TR el | o s ERR e
R:AAagyLvy 8229747934 iy —F
S, S ] 4 5 | FERMES 1:25.8 6-6-5-4 |39.9| — 5 421 | AIEX (E8)
4189 T8 = A51.0 (1/2) (+5) HiE—3
LiANRTNGR B RIS TIA b SH i
= t 5 | B 1:26.2 1-1-1-1 | 40.8| — 4 430 | BIERE (1£E)
511 |¥¥—¥T 4 54.0 @ Co |EHER
L:¥xoin140— B:U—-LEZ> Shall Farm
— = 5=, = REE_ :07. —5-6- X = =/EEAN (BB
ol8ls | 375757 “s |28 Fa e i = e I S
R:T7RYAVYL—> B:T4T79—F =e)
. it 6 | HABK 1:27.5 8-8-8-7 |40.8| — 9 462 | PIES (£8)
7 4 T2 AA—=X 54.0 (7E) (+2) BEHEH
AN v =T BiLVUa—-Yar pNCtie]
S NN [ mi>E] : -9-0— — FIEF (£E)
alels|3vs—zesrs B4 e 1.(248).2 9-9-9-9 |40.9 8 (4_051) iﬁ#;ﬁﬂz
LN—ErTvy— BIAX—FT1—4LZX HET7—L
N - KiEHFER 128. —-2-3- . — MRz (EE)
9 NEPE e it 6 Y 1(238)8 2-2-3-8 | 43.2 6 :1_288) e =1
LT RIA Y L= B:YTRIHLE-—Z RIS
® I—F—@EBIERL
13—7+— 1,6,7,3,8,9,2,4,5
Ao=5"= 1,6,7,3,8,9,2,4,5
T =35r= 1,7,6,3,9,8,2,4,5
41—F— 1,3,7,9,8,2,4,6,5
[ N5
B 7 350H 794K 3-7 160M & 3-7 650 &R 2-3-7 800F4
# B 7 1304 2-7 360 B E &=/ 560 EE 7-3-2 4,510
3 120 2-3 210M B H 7-3 1,110/
2 110/

ABICOVWTRDTEEERROODE. TR LIV,




